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10 3 = 


	QUESTION:


106 = 
	QUESTION:


102 =

	QUESTION:


23 × 103 =


	QUESTION:


8,713 × 102 = 
	QUESTION:


572 × 102 =

	QUESTION:


81 × 104 =


	QUESTION:


6.341 × 103 =
	QUESTION:


4.3 × 102 =

	QUESTION:


2.05 × 103 =


	QUESTION:


0.0213 × 107 =
	QUESTION:


0.0008 × 104 =

	QUESTION:


756 ÷ 100 =


	QUESTION:


4,800,000 ÷ 105 =
	QUESTION:


2,180 ÷ 102 =

	QUESTION:


14.32 ÷ 102 =


	QUESTION:


33.705 ÷ 10 =
	QUESTION:


455 ÷ 102 =




	ANSWER:


100


	ANSWER:


1,000,000
	ANSWER:


1,000

	ANSWER:


57,200


	ANSWER:


871,300
	ANSWER:


23,000

	ANSWER:


430


	ANSWER:


6,341
	ANSWER:


810,000

	ANSWER:


8


	ANSWER:



213,000
	ANSWER:



2,050

	ANSWER:


21.80 or 21.8


	ANSWER:


48
	ANSWER:


7.56

	ANSWER:


4.55


	ANSWER:


3.3705


	ANSWER:


0.1432



